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55 |[PGSTVFArHBEBAMERRBEIS V- TIL—REISR

JIE {52 K4 ZFa—R ouT IN |[GROSS|HDCP| NET [~zx4m
1 LtE A 254 39 42 81 10 71 @)
2 HE W TR 44 42 86 11 75
3 & IER HEHREC.C 43 42 85 10 75
4 % BT 4yay7’ 45 46 91 15 76
5 ol & gyny7° 45 46 91 15 76
6 aA KX HLEPGC 43 46 89 13 76
7 B BE gyny7° 49 42 91 13 78
8 AR BZ = 42 40 82 4 78
9 T EZ HEHREC.C 41 47 88 10 78
10 o I RE/E 42 49 91 13 78
11 ZRMA B DI ] 46 44 90 11 79
12 B 51K N/ 51 52 103 24 79
13 = Fx RE/A 40 51 91 12 79
14 &R HXEOD t#HFE 42 42 84 4 80
15 IRE E— RE/ & 48 48 96 16 80
16 X%%‘ﬁiét & 4yny7 48 49 97 17 80
17 > Ef t#HFE 47 51 98 18 80
18 ﬁx,u§ e t#HE 47 52 99 18 81
19 EE FE ayay7 51 44 95 13 82
20 = HE = 44 49 93 10 83
21 D BHHEE =1 57 45 102 18 84
22 EE % L& 43 46 89 5 84
23 A& XH P& d = 44 49 93 9 84
24 ATEP %F ALEPG 49 49 98 13 85
25 WHE & =1 46 54 100 15 85
26 EHEER HLE&PGC 52 50 102 16 86
27 BE L 4yny7 52 51 103 17 86
28 A=+ Pl % T 49 53 102 16 86
29 HE_(&A = 42 53 95 7 88
30 R #BX =1 50 47 97 8 89
31 X B— DI ] 52 52 104 14 90
32 E@R EFF % T 47 54 101 11 90
33 ML EF 4yay7 59 55 114 23 91
34 EN B fif] L1y 22 & 47 54 101 10 91
35 #ZH 5L t#HE 55 57 112 16 96
Ri5 =% XHE =i/7.2 9 -
Ri5 fRfE SR E] fif] |1 Z2 3 10 -
Ri5 AR M2 IE 13 -
Ri5 e —= =2H/12.1 15 —
Ri5 X #C =2H/14.7 18 —




95X |PGSTUF R A BARMERBHRITALYR-EVIEEISX
JIIE {32 K4 ZiFa—X ouT IN |GROSS|HDCP| NET [~z%o
1 A Tk £HIY 48 51 99 26 73 @)
2 8 F— L& 49 44 93 19 74
3 FR ER dt#E 48 47 95 21 74
4 A s5h3%k 4yay7 47 50 97 23 74
5 £5HF % dt#E 45 49 94 20 74
6 XHP EHiE DI ) 50 49 99 22 77
7 5% Al 4yay7’ 53 49 102 24 78
8 INR# HEHEC.C 47 51 98 20 78
9 XEB BBiE B398 E=4 57 51 108 29 79
10 a2 8& d#E 52 49 101 22 79
11 25 T 2y ILUR 48 51 99 19 80
12 mHE E= HEHFEC.C 45 55 100 20 80
13 BH =X HEHFEC.C 51 49 100 19 81
14 A0 EE dt#E 47 53 100 19 81
15 XAEMH AR 5398 t-4 48 56 104 23 81
16 k& BT 39N E=4 57 53 110 28 82
17 XFHH & L&Y 58 49 107 24 83
18 % {E8h dt#E 51 48 99 15 84
19 XER{K FOEI Fyay7 51 52 103 19 84
20 XA ' dt#pE 56 59 115 31 84
21 mO &= £HSY 58 49 107 21 86
22 A B— £HSY 59 53 112 26 86
23 ah FH dt#pE 56 52 108 18 90
24 gBE Cx = 61 63 124 28 96
Ri5 BE E=E t#F/16.8 17 -
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